Tree 1 N (solid) vs S(dotted) and 95% conf. DBH: 62.40 SP: YB Total: 105.3/84.0 Tree 2 N (solid) vs S(dotted) and 95% conf. DBH: 42.20 SP: HL Total: 109.9/69.8
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Tree 3 N (solid) vs S(dotted) and 95% conf. DBH: 61.00 SP: HL Total: 22.2/79.4 Tree 4 N (solid) vs S(dotted) and 95% conf. DBH: 15.50 SP: HL Total: 10.7/6.0
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Tree 5 N (solid) vs S(dotted) and 95% conf. DBH: 37.30 SP: HL Total: 88.5/76.3 Tree 6 N (solid) vs S(dotted) and 95% conf. DBH: 39.40 SP: SM Total: 104.2/72.9
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Tree 7 N (solid) vs S(dotted) and 95% conf. DBH: 29.40 SP: SM Total: 67.4/48.0 Tree 8 N (solid) vs S(dotted) and 95% conf. DBH: 58.50 SP: YB Total: 52.8/111.4
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Tree 9 N (solid) vs S(dotted) and 95% conf. DBH: 46.20 SP: SM Total: 45.4/75.9 Tree 10 N (solid) vs S(dotted) and 95% conf. DBH: 86.20 SP: YB Total: 28.3/323.4
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Tree 11 N (solid) vs S(dotted) and 95% conf. DBH: 10.10 SP: YB Total: 9.6/8.5 Tree 12 N (solid) vs S(dotted) and 95% conf. DBH: 26.30 SP: HL Tc(tal: 382.8/43.8
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Tree 13 N (solid) vs S(dotted) and 95% conf. DBH: 43.40 SP: YB Total: 68.9/47.1 Tree 14 N (solid) vs S(dotted) and 95% conf. DBH: 20.00 SP: YB Total: 26.2/22.9
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Tree 15 N (solid) vs S(dotted) and 95% conf. DBH: 26.90 SP: SM Total: 46.9/42.0 Tree 16 N (solid) vs S(dotted) and 95% conf. DBH: 36.10 SP: YB Total: 240.2/33.3
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Tree 17 N (solid) vs S(dotted) and 95% conf. DBH:
——— —

68.70 SP: YB Total: 148.3/155.2Xree 18 N (solid) vs S(dotted) and 95% conf. DBH:
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Tree 19 N (solid) vs S(dotted) and 95% conf. DBH: 20.90 SP: SM Total: 45
w———] T

.7/36.4Tree 20 N (solid) vs S(dotted) and 95% conf. DBH: 47.80 SP: SM Total: 166.4/109.4
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Tree 21 N (solid) vs S(dotted) and 95% conf. DBH: 36.50 SP: SM Total: 77.2/79.2 Tree 22 N (solid) vs S(dotted) and 95% conf. DBH: 52.40 SP: SM Total: 84.5/114.1
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Tree 23 N (solid) vs S(dotted) and 95% conf. DBH: 14.00 SP: SM Total: 13.0/13.0 Tree 24 N (solid) vs S(dotted) and 95% conf. DBH: 32.00 SP: SM Total: 37.2/47.8
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Tree 25 N (solid) vs S(dotted) and 95% conf. DBH: 15.90 SP: HL Total: 9.9/7.5 Tree 26 N (solid) vs S(dotted) and 95% conf. DBH: 48.50 SP: HL Total: 49
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Tree 31 N (solid) vs S(dotted) and 95% conf. DBH: 7.90 SP: SM Total: 4.7/5.8 Tree 32 N (solid) vs S(dotted) and 95% conf. DBH: 11.60 SP: SM Total: 10.9/12.5
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Tree 33 N (solid) vs S(dotted) and 95% conf. DBH: 74.90 SP: SM Total: 154.3/234.4Tree 34 N (solid) vs S(dotted) and 95% conf. DBH: 71.90 SP: SM Total: 86.1/352.4
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Tree 35 N (solid) vs S(dotted) and 95% conf. DBH: 18.30 SP: YB Total: 16.6/31.8 Tree 36 N (solid) vs S(dotted) and 95% conf. DBH: 18.90 SP: HL Total: 25.4/22.2
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Vol U L/hr

Tree 37 N (solid) vs S(dotted) and 95% conf. DBH: 49.70 SP: YB Total: 6.2/40.3 Tree 38 N (solid) vs S(dotted) and 95% conf. DBH: 27.50 SP: HL Total: NaN/NaN
20 — T T ——— 20 — T T
15— — 15— —

L 4 W T 4
L 4 s L 4
<
3
10— — 5 10— —
L 4 4L 4
g
5— — 5— —
L — - - L 4
~ o X
L ~ 4 L 4
|- —~ o ~ - |- -
-
L = S A L 4
) s e s e e — ! e ——— 0 S R S SO |
0 5 10 15 20 0 5 10 15 20
Hours CDT Hours CDT

Tree 39 N (solid) vs S(dotted) and 95% conf. DBH: 31.60 SP: HL Total: 44.1/27.7 Tree vs S(dotted) and 95% conf. DBH: 52.20 SP: HL Total: 78.6/38.
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Tree 41 N (solid) vs S(dotted) and 95% conf. DBH: 69.00 SP: YB Total: 45.1/80.8 Tree vs S(dotted) and 95% conf. DBH: 20.50 SP: HL Total: 20.0/22.
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Tree (solid) vs S(dotted) and 95% conf. H: 11.50 SP: HL Total: 9.8/7.2 Tree 44 N (solid) vs S(dotted) and 95% conf. DBH: 79.00 SP: YB Total: 61.7/183.9
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Tree 45 N (solid) vs S(dotted) and 95% conf. DBH: 25.80 SP: HL Total: 32.5/10.7Tree 46 N (solid) vs S(dotted) and 95% conf. DBH: 49.50 SP: SM Total: 1969.3
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Tree 47 N (solid) vs S(dotted) and 95% conf. DBH: 54.40 SP: SM Total: 50.2/105.6 Tree 48 N (solid) vs S(dotted) and 95% conf. DBH: 22.50 SP: SM Total: 30.0/
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